e —— e

COPYRIGHT ADSHEL 2008. The information in this drawing is the sole property of Adshel. Any reproduction in part or whole without the Written permission of Adshel is prohibited.

rlificat ;._':.';_ C’_(‘,_g)g\_,‘ \(:,qu,('j |

1686

1150 VISUAL AREA| |
P
© <
é e ————— a‘
(=] o I
& S
2
L
§ R : [
 S— T =i — ._—_—:===1 = =
GROUND LEVEL—— x : :
At . --__--._.L_..-r__--——--—-—————r——-“-—----—--—--—-'--—-—--'—--—- VT e ey AT A N T T ..L. i
1800 M o
. - 2452 -
685 s 3732 )
1523 e 3833
SIDE ELEVATION
SIDE ELEVATION FRONT ELEVATION
- : 7 DRAWING NO:
UNLESS OTHERWISE SPECIFIED: TOLERANCES: DRAWN: DATE: e
DIMENSIONS ARE IN MILLIMETERS | * LINEAR: £ 0.5mm | SB 18/11/2008 D - OPTISHEL VILLA ELEVATION VIEWS
AR CENTACUNG ANGULAR: 2 0.8*  [gurexeo. DATE: - AD-MAINS-FULL BACK 50416
: The Forum |evel 11 205 Pacific Highway
D DRAWING eve
g‘(;DN%ﬁNNEIARa&LLY UPDATE m MANUFACTURING: REV DATE: St L°°"°’d58N452Vg 3065 DRAWING TYPE: MATERIAL: FINISH: SIZE: SCALE: SHEET:
DO NOT SCALE DRAWING w j t: (+612) 8425 7200 f: (+612) 222 | Coneral Assembly Powdercoat A3 1:30 2




COPYRIGHY ADSHEL 2008. The information In this drawing is the sole property of Adshel. Any reproduction in part or whole without the written permission of Adshel Is prohibited. o .

| I

L. 4256 | i
2451 79 [ : |
—~ = ] | Certificate No..C&. a1 \o(ﬂe
e o $32 . | . 8 CONDUIT LOCATIONS ARE CRITICAL
2 ~— CONCRETE REQUIREMENTS:
5 ; . e s MPA26
| \ . SLUMP 80mm
M12 CHEM-SET FASTENERS +  MAXIMUM AGGREGATE = 20mm
IR § «  MINIMUM DENSITY = 2400kg/mm3
i o s & S o R i iaiaey
|\ REINFORCEMENT:
= Aoms o Bt el bm . :
§ ' : ' . . . MINIMUM COVER OF RE-INFORCEMENT = 60mm
. . FASTENERS:
' ' + 4 off M12 CHEM-SET FASTENERS PER UPRIGHT,
200 TYP | . MINIMUM EMBEDMENT = 150mm
DIMENSIONS BASED ON METRO Mkl CERTIFIED FOOTING
i ]
] ]
=
s 60 MIN
g ncmroncms_\ FINISH LEVEL \ 32mm ELECTRICAL cououn—\
) nh“l mndsnandususn - L% a 4 ; Aw - 3 U H Ulm’f m~D w D REJN
-:d:--l q_}h }‘ setuuen ‘-t-i--,--d‘n-‘-ul--urt----t-n--ﬁ?uuu‘h-“? wm= --IIﬁlhll\--Il““f“"ﬁ““l‘i‘"“ ‘§1 REG'ON DESCR‘P"ON SPEED (W.) fmm} (mm} ?wgrm
ks T T = et -
- / i IL' \ i ! ¥ A NORMAL 50 910 | 240 RF92 MESH
Y ] ererryrwzsrzesxaansdes ol stooonanoDoTTODoD - = < EEaREEERERE RS : mwms B INTERMEDIATE 60 12501 240 RFS82 MESH
z w [ W
g !
(=]
w
200
/\ DETAIL B
= = U MESH SIZE 200 x 200 x 9mm
UNLESS OTHERWISE SPECIFIED: | TOLERANCES, DRAWN: DATE: - TITLE: DRAWING NO:
DIMENSIONS AR I LINEAR: 2 0.5mm SB 18/11/2008 :
< Xx » INDICATES DIMENSION ANGULAR: 10’,‘%- _ /_1’/ A\ )S ]Hl IE L OPTISHEL VILLA FOOTING DETAIL
STMUETRIC ABOUT CEMTREUM CHECKED: DATE: 4 AD-MAINS-FULL BACK 50416
CAD GENE?&TEIE&R&\;%% ) The Forum, [ pyel 11, 205 Padcif:fslxgg\gsag
DO NOT MANUA - MANUFACTURING: REV DATE: St Leonards 5 . FINISH: » . :
DO NOT SCALE DRAWING E I ) t: (+612) 8425 7200 f: (+612) 8425 7222 23;"1.'."2255.,., ol :I;L ;?;:‘ s";n'




DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED: TOLERANCES: DRAWN: —
DIMENSIONS ARE IN MILLIMETERS LINEAR: & 0.5mm SB 18/11/2008
« X » INDICATES DIMENSION - ;

ST ABOUT CEMTATLN ANGULAR: 1 0.5 — —

CAD GENERATED DRAWING } .

D0 NoT SCALE DRAWING 1\_' MANUFACTURING: REV DATE:

—

{ COPYRIGHT ADSHEL 2008. The information in this drawing is the sole property of Adshel. Any reproduction in pan or whole without the written Permission of Adshel‘ls prohibited.

ADSHEL

The Forum, | eyel 11, 205 Pacific Highway

oM
ITEM No, |Qry, | QRAVING pescrr® |
1| 3| 50056 | VILLA ROOF ASSEMBLY MANS SUPPLY
2|3 | 33880 UNIVERSAL SUPERUTE OSTS
3 1| 12234 UPRIGHTA
4 1 | 50193 __UPRIGHIS
5 17| 12236 UPRIGHTC
3 1 | 12233 UPRIGHTD |
7 1 | 50005 [T —
[ 3 | 1224 REAR UPRIGHT BRACKET |
9 1 12240 FRONT UPRIGHT BRACKET
10 8 | 11571 MID&BOTTOM RAlL BRACKET - e ——
21 1 | 50019 MID RAIL 10WG ______A_l._t_:mm___
12| 2 | 21570 MIDRAL ALUMINTGM
13 1 | 12230 SEAT RAL “u_'f‘_l_l_!_lll_u_'_____
14 1 | 115822 U GLASS HOLDER 1 ALUMINIOM
15 2 | 115842 U GLASS HOLDER 2 :ﬂmmm
16 2 | 115822 U GLASS HOLDER 3 UMINIUM
17 | 1 | 80022 U GLASS HOLDER 6 AUMINIOM
18 2 | 12288 UPPER LONG U GLASS HOLDER ALUMINjUM
19 | 2 | 80000 LOWER LONG U GLASS HOLDER ALUMINIOM
20 1 | 12281 PAN RT ALUMI
21 1 | az280 LOWER WINDBREAK SUPPORT ALUMINIUM
22 1 | 12278 UPPER WINDBREAK SUPPORT ALUMINIUM
23 € | 131671 BACK GLASS TOUGHENED SAFETYGLASS
24 | 1| 11878 WINDBREAX GLASS | TOUGHENED SAFETYGLASS
25 6 | 50033 DOWEL SCREW &S
26 2 | 50026 SEAT SUPPORT RATIONALISED ALUMINIUM CAS!
27 12 | 50004 "SEAT ENDCAP_ PPWITH UV PLASTC
28 6 | 11575 SEAT SLAT ALUMINIUM EXTRUSION
29 1 | 21574 ARM REST ALUMINIUM
30 2 | 60030 BASE CLADDING ALUMINIUM
31 1| 12297 ELECTRICAL PLATE ALUMINIUM
32 2 = RCD_WCH .
a3 1 | 50456 COVER PLATE 2 ALUMINIUM
34 i1 | 11968 M ALUMINIUM
35 i | 10668 LIGHTBOX TOP CHANNEL ALUMINIUM
36 | 42 #10 x 1° PHILLIPS SELF DRILLING SCREW
37 5 %8 X 1/2" PHILLIPS SELF DRILLING SCREW
38 2 M6 X 16 CSNK SOCKET HD SCREW
30 4 ME X 16 BUTTON SOCKET HD SCREW
40 22 MB X 20 C'SNK SOCKET HD SCREW
41 |19 M6 X 25 HEX HD SCREW
a2 2 MG X 26 SHCS
43 16 M6 NYLOCK NUT
aa 21 M6 PLAIN WASHER
45 | 16 MB X 25 HEX HD SCREW
a6 | 22 MB X 35 SHCS
47 2 MB X 50 SHCS
48 40 MB PLAIN WASHER
49 6 M10 X 80 MEXHD SCREW
W 50 4 M10 X BDSHCS
ST B1 € M10 PLAIN WASHER
st 52 3 M10 FULL NUT
| T =AM |
i ; Al - 4 .|
| I | , TH ‘I
C_ Ced o0 } U(\ } (; ,
Qv—_
“SITEM NO.
TITLE: DRAWING NO:
OPTISHEL VILLA EXPLODED ASSEMBLY
AD-MAINS-FULL BACK 50416
St Leonards NSW 2065 DRAWING TYPE- WMATERIAL: FINISH: SIZE SCALE: SHEET:
General Assembly A3 1:30 4

1: (+612) 8425 7200 : (+612) 8425 7222




——

DO NOT MANUALLY UPDATE
DO NOT SCALE DRAWING

=

B

UNLESS OTHERWISE SPECIFIED: TOLERANCES: DRAWN: DATE:
DIMENSIONS ARE IN MILLIMETERS LINEAR: £ 0.5mm SB 18/11/2008
L Ao CEMTRELINE ANGULAR: 1 0.5 CHECKED DATE:
CAD GENERATED DRAWING i

MANUFACTURING: REV DATE:

COPVflﬁHT ADSHEL 2008. The intormation in this drawing is the sole property of Adshel, Any reproduction in part or whole without the written permission of Adshel is prohibited.

e S ——

KEY:

——&=> SUPPLY = 240V

——== LOAD/ LIGHYTS = 12V

ADSHEL

The Forum, Level 11, 205 Pacific Highway

st Leonards NSW 2065

t: (+612) 8425 7200 1: (+612) B425 7222

TITLE: DRAWING NO:
OPTISHEL VILLA WIRING DETAIL
AD-MAINS-FULL BACK 50416
DRAWING TYPE: MATERIAL: FINISH. SIZE: SCALE: | SHEET:
General Assemnbly o A3 1:30 5




